opemsa s/

Click Central

H >‘® Click Central Suspension
Suspension L O Bl
e Reference | Reference | Reference | Reference Pack Unit
M6 67020143 | 67010143 | 67030143 | 67060143 20
M8/M10 | 67020043 | 67010043 | 67030043 | 67060043 20

ONLY 1 PART REQUIRED ALONG WITH 2 NUTS!

« Suitable for quick installation to rejiband®
when suspending with threaded rod.

» Cannot be used with 35x60 or 60x60. \ ot
S0

8
p // \J

Central Hanging

Plate )
= H.D.G.* S.S. 316
= . NN =
Reference | Reference | Reference | Reference Pack Unit .
M6 67010144 20 =
M8-M10 | 67010046 | 67020046 | 67030046 | 67060046 20

AENOR « Suitable, used in pairs, for suspending rejiband® with
threaded rod or used singly as a channel clamp.
« Cannot be used with refiband® 35x60 or 60x60.

Threaded Rod
W/MB/O e o oo epplpees——_

= Reference | Reference | Reference Pack Unit
M6x500 | 67020140 | 67010140 50
M6x1000 | 67020141 | 67010141 | 67060141 50
M8x500 | 67020044 67060044 50
M8x1000 | 67020045 67060045 50
\ M10x1000| 67020145 67060145 50

EXPANDED RANGE

Universal Bracket 4

oo ® 20 iversal Bracket rejiband®
rejiband® s
! & e Jwoo s IS
= Reference | Reference | Reference Pack Unit
62026011 | 62036011 62066011‘ 10

« For installing boxes, use M5 bolts.
« Suitable for wall mounting refibband® or attaching
accessories to the trays.

Mini Universal
Bracket s

l « For installing boxes, use M5 bolts.
« Suitable for wall mounting refibband® or attaching accessories to the trays.

Mini Universal Bracket

Reference | Reference | Reference Pack Unit

62026010 | 62036010 62066010‘ 10

(*) The hot dip galvanized finish is NOT AN ACCURATE AESTHETIC FINISH. It is a very effective corrosion protection. COLOUR DIFFERENCES CAN OCCUR (shades of grey), brightness and surface finish
(roughness, smoothness), created during the process employed. This is normal and does NOT AFFECT THE QUALITY AND DURATION OF THE ANTI-CORROSION PROTECTION.

15



